             Question Bank

Chapter 5
Prices
Think Break Questions (from Book: pp. 79-80, 84)
1. Make a list of goods, not necessarily foods, you think may have elastic demands and a list that may have inelastic demands?  Give your rationale.  (Hint: Think extremes like cotton candy versus heroin).
2. Repeat number 1 for foods?  Is this more difficult? Why or why not?

3. If the own price elasticity for sugar sweetened beverages is -0.80 and a soft drink tax increases the price by 5%, soft drink consumption is expected to decrease by what percentage, ceteris paribus?  If the target reduction in soft drink consumption is 10%, how much must the tax increase price?

4. Consider these two statements:
“Taxes on sugar sweetened beverages will reduce their consumption and therefore caloric intake.”   
“Taxes on sugar sweetened beverages are not an effective instrument for reducing caloric intake.”

Evaluate these two statements conceptually in terms of the elasticity of demand.  Is one right and the other wrong or are they both right or both wrong? 
5. Using Equation 5.1 as your guide, show what will happen to the Engel curve as the price of food one increases (Hint: With the same income can you buy more or less of food one if its price increases? This is just a reverse of which variables change in figure 5.3).

6. Suppose you want to use the notation in Equation 5.1 to quickly summarize the demand for an inferior good, like Spam.  What changes would you have to make to the notation (Hint: If Spam is an inferior good, what happens to its consumption as income increases?  How is that relationship shown in the Equation 5.1 notation?)

Multiple Choice Questions
1. Why was JP late for lunch with Margaret in the opening conversation?

a. a traffic jam

b. a flat bike tire

c. he had to take his dog to the vet

2. A price index is sophisticated way of averaging prices across locations and also products.
a. True

b. False 

3. The general fruit and vegetables price index has been increasing since 2010.

a. True

b. False 

4.  The law of demand states

a.  as the price of a good increases (decreases), the consumption of the good decreases (increases).

b.  as the price of a good increases (decreases), the consumption of the good decreases (increases), ceteris paribus.

c.  as income increases (decreases), the consumption of the good increases (decreases).

d.  as income increases (decreases), the consumption of the good increases (decreases), ceteris paribus.

5. The Latin phrase ceteris paribus means, assuming this is the only important factor.

a. True

b. False 

6. The ceteris paribus qualifier is used in all scientific discipline, either explicitly or implicitly.

a. True

b. False 

7. When the price of a food decreases, then

a. the isocost line rotates outward on the axis of that food but the feasible choice set stays the same.

b. the isocost line rotates outward on the axis of that food but the feasible choice set shrinks.

c. the isocost line rotates outward on the axis of that food and the feasible choice set expands.

8. When the price of a food decreases, then the optimal level of consumption of that food 

a. will increase and the consumption of other foods will decrease.

b. will increase but also will the consumption of other foods.

c.  may or may not increase.

9.  The total demand curve includes both the hedonic and health effects associated with a price change.
a. True

b. False

10. The hedonic demand curve is a conceptual device that shows how consumption of a food will respond to a decrease in the price of the food, ceteris paribus, if the health effect is ignored.

a. True

b. False

11. A decrease in the price of a food, such as vegetables, will always allow the individual to reach some nutritional target.
a. True

b. False

12. If a decrease in the price of a food group does not lead to an increase in consumption that reaches a nutrition target, then the price did not decrease enough to reach the target. 

a. True

b. False

13. A movement along a demand curve is called

a. a change in demand.

b. a change in the quantity demanded.

c. none of the above.

14. The price on a demand curve represents the minimum a consumer is willing and able to pay for the quantity of the good.

a. True

b. False

15.  If the own price demand elasticity is -0.5, then the good (food) is called price inelastic.

a. True

b. False

16. If the own price elasticity of a food is -0.20, the a 10 percent decrease in the price of the food will lead to a

a. 0.20 percent decrease in the consumption of the food, ceteris paribus.
b. 2.00 percent decrease in the consumption of the food, ceteris paribus.
c. 0.20 percent increase in the consumption of the food, ceteris paribus.
d. 2.00 percent increase in the consumption of the food, ceteris paribus.
17.  Two individuals with the same income levels will have the same own price elasticity values for a food.

a. True

b. False

18. An increase in income will cause the demand curve to

a. shift out for a normal good.
b. shift in for an inferior good.
c. not shift if the income elasticity is zero.
d. all of the above.
e. none of the above.
19.  As the price of a complement food increases, the demand for the food of interest will decrease, ceteris paribus. 

a. True

b. False

20.  A positive cross price elasticity between two foods means

a. their prices and quantities move in opposite directions and they are complements.

b. their prices and quantities move in the same direction and they are complements.

a. their prices and quantities move in opposite directions and they are substitutes.

b. their prices and quantities move in the same direction and they are substitutes.

21. The demand curve is a two dimensional special case of the demand function.

a. True

b. False

22. The demand function is the unifying multidimensional concept underlying 

a. the Engle curve.

b. the demand curve.

c. a and b.

d. none of the above.

23. If fresh fruits and vegetables are higher priced than canned fruits and vegetables and more canned fruit and vegetables are consumed than fresh fruits and vegetables, it must be because the fresh fruits and vegetables are not affordable.

a. True

b. False 

24. A sugar sweetened beverage tax will be more effective, ceteris paribus, in reducing caloric intake if sugar sweetened beverages are 

a. own price elastic.

b. own price inelastic.

c. a complement with beer.

d. a and c

e. b and c

25.  Sugar sweetened beverage taxes would be more effective in reducing total caloric intake if most other foods and beverages were 

a. substitutes with sugar sweetened beverages.
b. complements with sugar sweetened beverages.
Short Answer Questions 

1. Suppose researchers have found that people in the southeast have a smaller own price elasticity for fruits and vegetables than those in the northeast.  Show graphically and explain why a fruit and vegetable subsidy in the northeast will be more effective than in the southeast. 

2. Using a graph with indifference curves and the isocost line, show and explain how it may be possible that a decrease in the price of a food could increase the consumption of both goods.  What implication does this have for policies such as a food subsidy designed to increase consumption of healthy foods and a more balanced diet?

3. Using a graph with an Engel curve and a demand curve show and explain how a steeper Engel curve (less responsive) associated with a food implies a smaller shift in the demand curve for the food if income is increased.  
4. Suppose there is a target level of a specific food group you are trying to hit by increasing SNAP benefits.  Using a demand graph, show and explain why knowing if the food group is a normal good or inferior good is important.

Discussion Questions 
1. In an effort to help consumers decrease the amount of sugar sweetened beverage intake, many states are considering taxes on sugar sweetened beverages.  Consider the case where there are two types of beverages: regular soft drinks (F1) and diet soft drinks (F2).  The tax acts to increase the price of F1 relative to F2.  Assume there is a carbohydrate target NC the states want consumers to hit. 

Show graphically and explain how this tax may decrease everyone’s consumption but some individuals will still be above the carbohydrate target. 

2. Suppose you work for the Department of Health.  You have been called before congress to testify on the likely impact of two alternative proposals to improve fruit and vegetable consumption in low income populations:  (i) an increase in SNAP benefits (ii) a price subsidy for fruit and vegetable consumption.  Your review of the empirical literature reveals that the income elasticity for fruits and vegetables out of SNAP benefits is 0.2 whereas the own price elasticity is estimated to be -0.4.  The income subsidy would increase SNAP benefits by about 3% whereas the proposed price subsidy would decrease the price of fruits and vegetables to SNAP participants by about 2%.  
a. You are asked by Senator Moynihan to “Please, provide an estimate of the effect of each policy on fruit and vegetable consumption and then a recommendation.”  Answer this question and justify your answer.  State any assumptions you are making.  

b. After you give your answer, Senator Moynihan then ask, “If we had a fixed amount of money to put toward this problem would it not be better to split the money and do both policies?”   Answer this question and justify your answer.  State any assumptions you are making.  

3. Equal Ed goes out to lunch every day of the month and likes to go to one of two delis: Adam's or Harold's.  He has $180 to spend on lunches for the month and the average price of a lunch at Harold's and Adam's is the same, $6 (Ph = Pa = 6).  The average grams of fat per sandwich eaten at Adam’s is 15 but at Harold’s the average grams of fat per sandwich is 30, because he uses real mayonaise.  Ed wants to keep his consumption of fat from these sandwiches for the month at 600 grams. 

Based on this information answer the following questions.

a. Write the isocost constraint and the isonutrient constraint for Ed.

b. Equal Ed is very retentive and likes to eat the same number of times a month at each deli.  Is this possible without violating the isocost or isonutrient constraints?  Show your answer mathematically and explain (i.e., the right answer is a number!!).
c. Next week Adam’s Deli will raise his lunch prices to $8 per lunch.  If Ed still satisfies his isocost and isotime constraint, how will he split his lunches between Adam's and Harold's? 

d. Draw and explain a graph showing Ed' situation before and after the price change.

e. Based on your answers to (b) and (c) calculate the additional amount of money Ed would need in order to return to the equal split of meals he had in part b.  Explain.
